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E=ii d frq fregr

E( lru;r- q:r + ffi A sc{ Rs qs fruifu wm w srq<r

rtrqmRfteq r
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(o) sarwr * frs Hq mfrq ft EftRr A-fird eqne

+ trft qer q{ ift-+. c-R fr sse eqr++ dt il
vl.gffi ffi{ qr ocfrrr 6ftsr

(ra) <mr<r:, e-46 ssdT go, * ftv, Me w t
\.r*c G ts fr€c +dr * + ftrd vo' ff qRunq m<

qrer *, *t etrS ffitr arafr, q+en {, a n'nFrd

+ e-qrt{ I Eo rer il q-qi 6frqr

8. Writc sllort rrotes on:

(a) Annual Financial Statement of the Budget

(b) Frcc-ridcr p rob lenr

(6,6,6)

FtqfrAq-d qi tfh< ftqft ftRsq
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2 Tir er<q-d i s vr{ R'} :rs ts r 6t{ .iia cr{ 6l r

s. qS vri * rotcmi r

q{ erFr- rrzr 6T 3-R sr}fr qr G-f ffi \'fi qrsr + Afrq, Ak{
{m -flt 6r qrt4q vo ff *cr qTBs r

l. What do you ulderstand by the Iron 'l'riangle problern'?

Is it possible to design a welthre program that solves

( l8)

+6 AW ffier t 3irc er tl-st i? wr w Et6 Frd'r

*1 66 a$ aril \'+' 6qrur6rt fi*s{ * E-orrq q'r<r rrrq

t? qd dfrqr (o) cu-a qr qrff-o' ffiq E-fiur

this iron triangle? Disc uss.

(c) Static versus Dynamic scoring

P.T.O.
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6. Explain the key recommendations of the l5rh

Finance Commission. and the fiscal roadmap envisaged

by it. (18)

lsi Ef, inftr d rgte frwrnur': *{ sF+ Enr qF+.fud

{rs-+lec s+€r + Rq frhql
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2. Distinguish between public goods and private goods.

Using suitable diagrams, compare the efficient

provision of public goods vis a vis private goods.

(6,12)

qrffi*- sq3n sfu ffi.q.n + ftq irdr fr&qr scgffi

tqrfua qr rc+{r q,,$, ffi uqd d ga-+ i wduR-+'

qSBi + E{rf, yretrrt * ga-<r frfrvr

(a) Suppose that th€ labour market is perfectly

competitive. Mr A and Mr B earn Rs. 50,000 per

year working for the same company which offers

health insurance worth Rs. 10.000 to all the

employees. Assume further that they both face a

flat tax rate of 25V;o. Gtven that, Mr. A buys health

insurance from the employer and Mr. B buys

insurance on his own for Rs. 9000, discuss the

impact of tax subsidy to employer- provided

insurance. ( t 0)

P.T.O.

(a) Illustratc how thcrc is a clear potcntial hrr mnral

hazard on the patient side of the medical care

system. Use suitable diagrams. (e)

(b) Generally, for every emissions fee, in theory there

rs a cap-and-tradc system that achievcs just the

sarne outcome, and vice versa. However. t

practice, there are some differences in how the

-l

two systems perf'orrn. D isc u ss. (e)



(b) What is meant by Optirnal fiscal l'ederalism?

(8)

(c,) qm mfrs fr ry{ <rqrt tt oo t cftr+tff *r ff a

sfu "fr 
g go * o'ffi * frs q,rc oti Ev ft a{

so,ooo wt 6cr+ + d] {:t 6ffid d ro,ooo tc}

6T RRrq frqr c-ara q'c& *r slrt qm fffrq fr i
iit- zs"z 6 voqqm thl q{ t6I qrfiI q''G *r

qE ?€fr Es, ft A ff+ffir + er*q frqr €H *

*t ff e cooo rqi + frs Rq frcr rskt *, ffiftr

ERurqFr ft's rrs ftcr w qt qFrS * ctrn qr qsi

frfrsl

(re) sv+t rrmdftc trcr€ t wt crsd *?

(a) "When internalizing externalities, the assignmenl

of property rights to one of the parties will bring

a socially efficient outcome." Explain. (9)
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(b) Explain the lypes of lntergovern mental Grants in

deta il (e)

(o) "<rutr* A FHB* o€ qqq, qei i t w d ffi

+ elErort qr qrtlvr+ srcrfuo w t arro qfunq

angrnr" qq dftq r

(la) rm-<c+rt igcA + e-6ri +l fr<n t qq

6frqr

5. What is meant by market failure? Explain tn

detail, rcasons why markets fail to achieve

e ffic ie ncy. (18)

srmR d fr-sf,-dT t flr frrff{ *? erdR qHil flR 6r+ q
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